User's .. Ui Advanced
Manual  wall Mount Bracket

Thank you for your purchase of this Wall Mount Bracket.

YOKOGAWA ¢ % 20014 200 Etion ()
[=

Yokogawa Electric Corporation

For Your Safety

In order to ensure safe and proper use of the product, please be
sure to read this manual prior to using the product. Also be sure
to store this manual in a safe location.
For precautions in order to ensure safe use, also read the
operation guide for the controller.

Document Name Document No.
UT55A/MDL, UT52A/MDL Controller Operation Guide IM 05P01C81-11EN
UT35A/MDL, UT32A/MDL Controller Operation Guide IM 05P01D81-11EN
UT32A-D/MDL Controller Operation Guide IM 05P08D81-11EN

This document has been prepared for engineers that will be

responsible for the following work under the assumption that

applicable persons have the technical skills required to handle the

equipment:

* Those responsible for the construction work of installation and
wiring, etc.

Confirming Packaged Contents

Make sure that the following items have all been included in the package:
* Wall Mount Bracket: 2 pieces
» Controller Mounting Screws (M3): 4 screws
» User’s Manual (this document): 1 copy

Customers will be responsible for preparing the wall mounting screws.
Recommended Mounting Screw: Binding Screw M3 x 4

Product Summary

This product is a bracket for attaching a DIN rail-mounting type

controller to the wall.

Compatible Models: DIN rail-mounting type controllers (48 x 96 mm)
(UT52A/MDL, UT32A/MDL, UT32A-D/MDL)

Controllers to which the wall mount bracket can be attached are

those with screw holes on the side surfaces towards the rear of

the controller. (Refer to Chapter 2.2)

Model and Name

Model Name
UTAP005 Wall Mount Bracket

1. Installation Location

As the installation location of this product is subject to the
controller’s installation location and installation conditions, please
refer to the controller's Operation Guide.

2. Installation Method
/\ CAUTION

e When fastening screws, tentatively fasten the screws
and then go back to fully fasten them.

e Make sure that the wall on which the equipment will be
mounted is made of metal with enough strength.

e When installing the equipment, make sure that it is not
tilted to either side and that it is perpendicular and level.

Yokogawa Electric Corporation
2-9-32, Naka-cho Musashino-shi, Tokyo 180-8750 Japan

You can download the latest manuals from the following website:

&) http://Iwww.yokogawa.com/ns/ut/im/

2.1 External Dimensions

Unit: mm (inch)

4 - g4 hole .

®

5 (Body) °
<
NS
<

= °

L ®

88.4 (3.48) 102.1 (4.02)
20 (0.79)
Front Side

*1 Except the projection on the terminal cover.

Note) Third Angle Projection Method
Normal tolerance = (value of JIS B 0401-1998 tolerance class IT18)/ 2

2.2 Attaching the Bracket to the Controller

Attach the wall mounting bracket to the controller. Align the screw
positions as shown below and fasten the screws. The left/right
mounting brackets are identical.

— ¥ N
Fastening Torque: 0.5 to 0.6 N-m®

2.3 Mounting the Bracket onto the Wall

After attaching the wall mounting bracket to the controller, fix the
bracket onto the wall. Customers will need to prepare the screws
for mounting the bracket on the wall.

Unit: mm (inch)

4 - M3 Screw Hole

56 0.3 (2.2)

70 +0.3 (2.76)

Mounting Hole Dimension

. *Recommended Mounting Screw: Binding Screw M3




, -
User's ... UTAdvanced.
Manual emydmIS5 vk

ORI, BREATS Y Y MESEC EFOEEEELTHYH
ESTENET,

YOKOGAWA ¢ O oora 2

[E VRS 27 Sak = o

ZelcERW L fedic
AUREE L ERRICTERW L fedlc. TERICIERNT
AEEPFTHLCIEETV, Ffee THERRBISKEEATITIFELT
CIEEWL,
Rl HERWRL ODFEEFEICOVWTIL, FAEFTOA N
L—2 3V A4 FbBhE THER T,

EEEAS SEEAS =
UTS5A/MDL. UT52A/MDL 3880514 <L —> 3 > A1 K 1M 05P01C81-11JA
UT35A/MDL. UT32A/MDL #fiEtA XL —>3 > HA4 K IM05P01D81-11JA
UT32A-D/MDL BB A <L —2 3 VA1 | M 05P08D81-T1JA
KEF, ROABAEIBYUINDZ T Y Z 7 THEEREY IRV O EE
EEIBAERNRELTVET,
c BRI, BEHEEDIHEAIBLET DA,

HWaRAB DR
LUTFDEDHHI>TWAT & THERLEEL,
. BEEETST Y21
« FAEFETARC (M3) @ 418
e A—HY—XAXZaT7IV(EKE): 188
ERTARQ L. BERICTTHELRETL,
HEREMSIFR L N1 FRI M3, 418

i E
ABgIE. DIN L—)VERW AT AEaREnEH & B2 ICE Y S B e D
754y b TY,

EFTETE - DIN L—)VER W ST RZDFRETET (48 X 96mm)
(UT52A/MDL. UT32A/MDL. UT32A-D/MDL)
BRSBTS v MERYGT BT EHTEZRAH L. FBEE
BHROAEICTRCIAPMTNTVEEDEREVEY, 22IB81)

Az &%

jize=) G =%
UTAP005 BRMATST Y b

1. SRESF
FAUSOFBHFTIE, BEFORBSH, RERHTELETO
T BEHOARL— 3V HA FEBRLTREL,

2. BUFAE

AE

@ R L EHEDHITB LTI, REDETOTHOEKEDE
ToTLEEL,

@ KB EHRBET B, THEEEEROEBLELTLE
T,

@ HBERBET B, EALTHICHENT, FEE - KT
IEEBESICLTLEEL,

>

S #  0422-52-6765
TIB087SOR R B R AT HRE2-9-32

B # X # 06-6341-1395
T530-0001 KRR AL X MGH2-4-9 (T =¥ &2 T —21pk)
OB X IE #  052-684-2004
T456-0053 B2 H B HHKX —&3-5-19

B ¥ [E  082-568-7411
T732-0043/5 5 1 R X B (L BT 4-1

M B 092-272-0111
T812-0037 @A™ 1$ % X HHFABI3-21 (KIE@Y EY X X 2 —T7H)

BRI TR (Sy—srruETe 0120-518182)

BHIROEFR 27U ROV A MHSA Y O— R TELT,
& http://iwww.yokogawa.co.jp/ns/ut/im/

2.1 MTER

B2 mm (inch)
4-p4 7% —
®
§ [L § (Af%) °
<
5 m
b [ °

88.4 (348) 102.1 (4.02)
20(0.79)"
E@E il

) ) 1 BT )\~ DR <
) B
EEFFARZE =1 (JISB0401-1998 DRNZEZERK IT18 DfE )/2

2.2 FAERETAN\DEUT
BEU T Sy M EBEEHICRY T ET. FROLSIch L
BEADEROMHFET., Bt TS v FOEADENES Y E
Bhoe

2.3 EEAOHYT

BN TSy b EREFHIERY R BEICh CTEELE

To BICIWIT BTN CIEHERRICTTHELEEL,
BIfi7:mm (inch)

0.3(2.2)

Es

70£0.3(2.76)

HROAHF TR E
MHEREUTIFRL NIV FRI M3

N



